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Powierzchnia uzytkowa
PARTER: 42.81 m?2
PIETRO: 44.34 m?
razem: 87.15 m?

Powierzchnia
STRYCHU: ok. 20 m?
powierzchnia podtogi
strych nieuzytkowy

Powierzchnia
DZIALKI: ok. 199 m?

Powierzchnia
ZABUDOWY: ok. 70 m2

276G / 1

Budynek 4

PARTER 42.81 m?
0.1 Wiatrotap 4.62 m2
0.2 Korytarz 3.88 m?
0.3 Kuchnia 10.32 m2
0.4 Pokéj dzienny 21.19 m?
0.5 Toaleta 2.8 m?

Twoj dom za miastem

PIETRO

1.1 Korytarz
1.2 Schody

1.3 Garderoba
1.4 tazienka
1.5 Sypialnia
1.6 Sypialnia

Zhomes.pl

44.34 m?
5.68 m2
3.63 m2
9.03 m2
6.43 m?

11.05 m2
8.52 m?
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